# On Some Iterative Formulas for Solving Nonlinear Scalar Equations

TAKAHIKO MURAKAMI\*

First, we show fourth order multipoint iterative formulas which find better approximations to a zero of a function f(x). These formulas require one evaluation of f(x), f'(x) and f''(x) respectively per iteration. Next, we show some third order one-point itrative formulas containing two parameters, and consider the monotonic global convergence of them.

## 1. Introduction

We will study numerical iterative formulas for the computation of the solution of the nonlinear scalar equation

$$f(x) = 0 \tag{1}$$

where f(x) is a real function of the real variable x. In [1, 2], various types of iterative formulas have been shown. Traub [1, PP. 192–197, PP. 200–204] showed two types of fourth order multipoint iteration functions. Both of them contain two parameters. One of them requires three evaluations of f'(x) and one of f(x) per iteration, the other one evaluation of f(x) and three of f'(x) per iterative formulas containing one parameter and requiring one evaluation of f(x) and two of f'(x) per iteration. Furthermore, in [6], we showed two types of fourth order multipoint iterative formulas. One of them requires one evaluation of f'(x) and two of f(x) per iteration. The other requires one evaluation of f(x) and two of f'(x) and two of f'(x) per iteration.

The following one-point iteration functions are well-known [1, p. 90], [2, P. 111]

$$\Phi_{2,0}(x) = x - h - A_2 h^2$$

$$\Phi_{1,1}(x) = x - \frac{h}{1 - A_2 h}$$
 (Hally's iteration function)
$$\Phi(x) = x - \frac{h}{\sqrt{1 - 2A_2 h}}$$

(Ostrowski's iteration function)

where 
$$h = \frac{f(x)}{f'(x)}$$
, and  $A_2 = \frac{f''(x)}{2f'(x)}$ .

All of them have cubic convergence for all the simple zeros of Eq. (1), and require one evaluation of f(x), f'(x) and f''(x) respectively per iteration.

Journal of Information Processing, Vol. 15, No. 2, 1992

In this paper, we will study a class of iterative formulas of the type

$$x_{n+1} = \phi(x_n), \quad n = 0, 1, 2, \cdots$$
 (2)

where 
$$\phi(x)=x-hR(X)$$
, and  $X=h\frac{f''(x+\alpha h)}{f'(x)}$ ,  $\alpha$  is a

parameter, and R(t) is a function of t. In 2, we will show that for the class of iterative formulas (2), fourth order formulas can be obtained by suitable choices of the parameter  $\alpha$  and the function R(t). In 3, 4 and 5, we will show some third order one-point iterative methods and consider the monotonic global convergence of them to the zeros of f(x) in Eq. (1). In 6, we will give some numerical examples.

#### 2. Derivation of Formulas

We assume that  $\zeta$  is the simple zero of f(x) in Eq. (1) and that f(x) and R(t) are as smooth as necessary in x and t respectively. Developing X and R(X), we obtain

$$X = 2A_2h + 6\alpha A_3h^2 + 12\alpha^2 A_4h^3 + O(h^4)$$
 (3)

and

$$R(X) = R(0) + R'(0)X + \frac{1}{2!}R''(0)X^{2} + \frac{1}{3!}R^{(3)}(0)X^{3} + O(h^{4})$$
(4)

where 
$$h = h(x) = \frac{f(x)}{f'(x)}$$
,  $X = X(x) = \frac{f''(x + \alpha h)}{f'(x)}h$ , and  $A_j = A_j(x) = \frac{f^{(j)}(x)}{j!f'(x)}$ ,  $j = 2, 3, 4$ .

It then follows from (3) and (4) that we obtain

$$-hR(X) = -R(0)h - 2R'(0)A_2h^2 - 2R''(0)A_2^2h^3$$

$$-6\alpha R'(0)A_3h^3 - \frac{4}{3}R^{(3)}(0)A_2^3h^4$$

$$-12\alpha R''(0)A_2A_3h^4 - 12\alpha^2R'(0)A_4h^4$$

$$+O(h^5). \tag{5}$$

<sup>\*</sup>Department of Mathematics, Kobe University of Mercantile

Since the basic sequence [1, PP. 78-88] is given by

$$E_5(x) = x - h - A_2 h^2 - 2A_2^2 h^3 + A_3 h^3 - 5A_2^3 h^4 + 5A_2 A_3 h^4 - A_4 h^4,$$

it follows from Eq. (2) and (5) that we obtain

$$\phi(x) - E_5(x) = [1 - R(0)]h + [1 - 2R'(0)]A_2h^2$$

$$+ [2 - 2R''(0)]A_2^2h^3$$

$$+ [-1 - 6\alpha R'(0)]A_3h^3$$

$$+ \left[5 - \frac{4}{3}R^{(3)}(0)\right]A_2^3h^4$$

$$+ [-5 - 12\alpha R''(0)]$$

$$\times A_2A_3h^4 + [1 - 12\alpha^2R'(0)]A_4h^4$$

$$+ O(h^5).$$

Hence it follows from Theorem 5-2 [1, PP. 86-87] that for Eq. (2) to be fourth order, the following system of equations must be satisfied:

$$\begin{vmatrix}
1 - R(0) = 0 \\
1 - 2R'(0) = 0 \\
2 - 2R''(0) = 0 \\
-1 - 6\alpha R'(0) = 0
\end{vmatrix}$$
(6)

From the system (6), we obtain

$$R(0)=1$$
,  $R'(0)=\frac{1}{2}$ ,  $R''(0)=1$ ,  $\alpha=-\frac{1}{3}$ . (7)

In the case of (7), it follows from Theorem 5-2 [1, PP. 86-87] that the asymptotic error constant of  $\phi(x)$  C is given by

$$C = \lim_{x \to \zeta} \frac{\phi(x) - E_5(x)}{h^4}$$

$$= \left[ 5 - \frac{4}{3} R^{(3)}(0) \right] \tilde{A}_2^3 - \tilde{A}_2 \tilde{A}_3 + \frac{1}{3} \tilde{A}_4$$
 (8)

where  $\tilde{A}_j = A_j(\zeta)$ , j = 2, 3, 4.

Next, we give some forms of R(X) and the asymptotic error constant C which satisfies (7) and (8) respectively.

[I] 
$$R(X) = \frac{1}{2} X^2 + \frac{1}{2} X + 1$$
,  $C = 5\tilde{A}_2^3 - \tilde{A}_2 \tilde{A}_3 + \frac{1}{3} \tilde{A}_4$   
[II]  $R(X) = \frac{1}{2} \left( 1 + \frac{1}{\theta} \right) X + \frac{1}{2} \left( 2 - \frac{1}{\theta^2} \right) + \frac{1}{2\theta^2(\theta X + 1)}$ ,  $C = (4\theta + 5)\tilde{A}_2^3 - \tilde{A}_2 \tilde{A}_3 + \frac{1}{3} \tilde{A}_4$  (9)

where  $\theta$  is a parameter, and  $\theta \neq 0$ .

# 3. One-point Iterative Formulas

If  $\alpha=0$  in Eq. (2), then we obtain the following iterative formulas

$$x_{n+1} = \phi(x_n), \quad n = 0, 1, 2, \cdots$$
 (10)  
where  $\phi(x) = x - hR(X)$ , and  $X = h \frac{f''(x)}{f'(x)}$ .

Then, the order of convergence for Eq. (10) is equal to 3 for all simple zeros of Eq. (1), iff R(0)=1 and R'(0)=1/2. Furthermore, since the basic sequence [1, PP. 78-88] is given by

$$E_4(x) = x - h - A_2 h^2 - 2A_2^2 h^3 + A_3 h^3$$

the asymptotic error constant of  $\phi(x)$  C is given by

$$C = \lim_{x \to \zeta} \frac{\phi(x) - E_4(x)}{h^3} = \{2 - 2R''(0)\}\tilde{A}_2^2 - \tilde{A}_3.$$

Next, we give some examples of R(X) and the asymptotic error constant C.

Example 1. 
$$R(X) = \frac{(\theta + 1/2)X + 1}{\beta X^2 + \theta X + 1}$$
,

$$C = (2 + 2\theta + 4\beta)\tilde{A}_{2}^{2} - \tilde{A}_{3}$$

 $(\beta, \theta)$ : parameters).

Especially, if  $\beta = \theta = 0$ , then

$$\phi(x) = \Phi_{2,0}(x), \quad C = 2\tilde{A}_2^2 - \tilde{A}_3.$$

Next, if  $\beta = 0$  and  $\theta = -1/2$ , then

$$\phi(x) = \Phi_{1,1}(x), \quad C = \tilde{A}_2^2 - \tilde{A}_3.$$

Example 2. 
$$R(X) = \frac{a + \sqrt{b}}{a + \sqrt{b - \sqrt{b}(a + \sqrt{b})X}}$$
$$C = \left[\frac{1}{2} - \frac{a}{2\sqrt{b}}\right] \tilde{A}_2^2 - \tilde{A}_3$$

(a, b: parameters).

If b=1, then

$$\phi(x) \equiv \lambda(x)$$

$$=x-\frac{a+1}{a+\sqrt{1-(a+1)X}}h$$
. [Eq. (2.13) in [5]]

Furthermore, if a=0, then

$$\phi(x) = \Phi(x)$$
.

# 4. Monotonicity of Convergence

Let f(x) be a polynomial of exact degree r > 1 with only real zeros given by the form

$$f(x) = \prod_{k=1}^{r} (x - \zeta_k)$$
 (11)

where  $\zeta_k \leq \zeta_{k+1}$   $(k=1,\dots,r-1)$ .

Then, it has been shown that both Ostrowski's method [2, PP. 110-115] and Laguerre's method [2, PP. 353-362] converge globally and monotonically to the zeros of f(x).

Let f(x) be given by the form

$$f(x) = x^{m} \exp(a + bx - cx^{2}) \prod_{k=1}^{\infty} \left(1 - \frac{x}{\alpha_{k}}\right)$$

$$\times \exp\left(\frac{x}{\alpha_{k}}\right) \tag{12}$$

where *m* is non-negative integer, *a*, *b*, *c* are real, and  $c \ge 0$ ,  $\alpha_k$  are real, and  $\Sigma \alpha_k^{-2} < \infty$ . Then, it has been shown that both Ostrowski's method [2, PP. 124-126] and Halley's method [4] converge globally and monotonically to the zeros of f(x).

Hansen and Patrick [5] have introduced the methods that form the sequence  $x_n$  by the iteration rule:

$$x_{n+1} = \lambda(x_n), n = 0, 1, 2, \dots,$$

and have shown that if f(x) is a polynomial with real coefficients or if f(x) is given by the form (12), then these methods converge globally and monotnically to the real zeros of f(x) under some assumptions.

Next, we consider the iterative methods for R(X) of Ex 1 in 3 that form the sequence  $x_n$  by the iteration rule:

$$x_{n+1} = x_n - K(x_n), \quad n = 0, 1, 2, \cdots$$
 (13)  
where  $K(x) = h \frac{\left(\theta + \frac{1}{2}\right)X + 1}{\beta X^2 + \theta X + 1}$ .

At first, let f(x) be given by the form (11).

Then, it follows from Rolle's theorem that f'(x) has r-1 real zeros  $\zeta'_k$  such that  $\zeta_k \leq \zeta'_k \leq \zeta_{k+1}$   $(k=1,\dots,r-1)$ .

Especially, if  $\zeta_k < \zeta_{k+1}$  for some k, we obtain  $\zeta_k < \zeta'_k < \zeta_{k+1}$ . For any real  $x \ne \zeta_k$ , we can define the associated zero  $\zeta(x)$  of f(x) to be  $\zeta(x) = \zeta_1$  if  $x < \zeta_1$ ,  $\zeta(x) = \zeta_r$  if  $x > \zeta_r$ ,  $\zeta(x) = \zeta_k$  if  $\zeta_k < x < \zeta'_k$ , and  $\zeta(x) = \zeta_{k+1}$  if  $\zeta'_k < x < \zeta_{k+1}$ . On the other hand, if  $\zeta_k = \zeta_1$  ( $k = 2, \dots, r$ ), we can define the associated zero  $\zeta(x)$  of f(x) to be  $\zeta(x) = \zeta_1$  if  $x \ne \zeta_1$ . Furthermore, f(x)/f'(x) and  $x - \zeta(x)$  have the same sign.

Next, taking the logarithmic derivative of (11) and differentiating it, we obtain

$$\frac{f'(x)}{f(x)} = \sum_{k=1}^{r} \frac{1}{x - \zeta_k}$$

$$-\left(\frac{f'(x)}{f(x)}\right)' = \frac{\{f'(x)\}^2 - f(x)f''(x)}{\{f(x)\}^2} = \sum_{k=1}^{r} \frac{1}{(x - \zeta_k)^2}.$$
(14)

From (15), it follows that

$$1 - X = h^2 \sum_{k=1}^{r} \frac{1}{(x - \zeta_k)^2} \ge 0.$$
 (16)

Next, rearranging r-1 zeros except  $\zeta(x)$  such that  $\zeta_1 \leq \cdots \leq \zeta_{r-1}$ , we obtain

$$1 - X - \frac{h^2}{|x - \zeta(x)|^2} = h^2 \sum_{k=1}^{r-1} \frac{1}{(x - \zeta_k)^2}.$$
 (17)

Therefore it follows from (17) that

$$|x - \zeta(x)| > \frac{|h|}{\sqrt{1 - X}}.$$
 (18)

The following lemma is needed below.

Lamma 1. If 
$$\frac{1}{2} \left( \theta + \frac{1}{2} \right)^2 \le \beta \le -\frac{1}{2} \left( \theta + \frac{1}{2} \right)$$
, then 
$$\frac{1}{1 - \frac{1}{2} X} \le \frac{\left( \theta + \frac{1}{2} \right) X + 1}{\beta X^2 + \theta X + 1} \le \frac{1}{\sqrt{1 - X}} \qquad (X < 1). \quad (19)$$

**Proof.** It now follows from the assumption that we

obtain  $-\frac{3}{2} \le \theta \le -\frac{1}{2}$ . Hence  $\left(\theta + \frac{1}{2}\right)X + 1 = -\left(\theta + \frac{1}{2}\right)$  $(1-X) + \theta + \frac{3}{2} > 0$ . Now, putting  $g(X) = \beta X^2 + \theta X + 1$ , we obtain  $g'(X) = 2\beta X + \theta < 2\beta + \theta \le -\frac{1}{2}$ . On the other hand, since  $g(1) = \beta + \theta + 1 \ge \frac{1}{2} \left(\theta + \frac{3}{2}\right)^2 \ge 0$ , we obtain g(X) > 0. Therefore, we obtain  $\left(\theta + \frac{1}{2}\right)X + 1$   $\left(\theta + \frac{1}{2}\right)X + 1$ 

$$\frac{\left(\theta + \frac{1}{2}\right)X + 1}{\beta X^2 + \theta X + 1} \ge \frac{\left(\theta + \frac{1}{2}\right)X + 1}{-\frac{1}{2}\left(\theta + \frac{1}{2}\right)X^2 + \theta X + 1}$$
$$= \frac{1}{1 - \frac{1}{2}X}.$$

In addition, using elementary inequality  $ab \le \frac{1}{2} (a^2 + b^2)$ , we obtain

$$\left\{ \left(\theta + \frac{1}{2}\right)X + 1 \right\} \sqrt{1 - X} \le \frac{1}{2} \left[ \left\{ \left(\theta + \frac{1}{2}\right)X + 1 \right\}^2 + 1 - X \right].$$

Thus

$$\left\{ \left( \theta + \frac{1}{2} \right) X + 1 \right\} \sqrt{1 - X} \le \frac{1}{2} \left( \theta + \frac{1}{2} \right)^2 X^2 + \theta X + 1.$$
Since  $\frac{1}{2} \left( \theta + \frac{1}{2} \right)^2 \le \beta$ , we obtain

$$\frac{\left(\theta + \frac{1}{2}\right) + 1}{\beta X^2 + \theta X + 1} \le \frac{1}{\sqrt{1 - X}}.$$

Lemma 1 is completely proved.

It now follows from (18) and Lemma 1 that

$$|x - \zeta(x)| > |K(x)|. \tag{20}$$

Then, on the monotonic convergence of the rule (13) to  $\zeta$  we obtain:

**Theorem 1.** Let f(x) be given by the form (11). Then, if

$$\frac{1}{2}\left(\theta + \frac{1}{2}\right)^2 \leq \beta \leq -\frac{1}{2}\left(\theta + \frac{1}{2}\right)$$

and if we take the real starting value in (13)  $x_0$  such that  $f(x_0) f'(x_0) \neq 0$ , the sequence  $x_n$  in (13) converges monotonically to  $\zeta(x_0)$ .

**Proof.** Assume that we take  $x_0 > \zeta(x_0)$  such that

$$f(x_0)/f'(x_0) > 0$$
,  $K(x_0) > 0$ .

Then, using (13) and (20), we obtain

$$x_0 > x_1 > \zeta(x_0),$$

and by the definition of  $\zeta(x)$ ,  $\zeta(x_0) = \zeta(x_1)$ . Furthermore, by repetition of the same argument, we obtain

$$x_0>x_1>x_2>\cdots>\zeta(x_0).$$

Therefore, it follows that the sequence  $x_n$  converges monotonically to a limit  $\zeta$ :

$$x_n \downarrow \zeta \geq \zeta(x_0)$$
.

It now follows from (13) that  $\lim_{x_n \to \zeta} K(x_n) = 0$ . On the other hand, it follows from (14) and (17) that

$$1 - X(x_n) = \frac{1 + \{x_n - \zeta(x_0)\}^2 \sum_{k=1}^{r-1} \frac{1}{(x_n - \zeta_k)^2}}{\left[1 + \{x_n - \zeta(x_0)\} \sum_{k=1}^{r-1} \frac{1}{x_n - \zeta_k}\right]^2}.$$

Therefore,  $-\infty < \lim_{x_n \to \zeta} X(x_n) < 1$ . Hence, it follows from (19) that  $\lim_{x_n \to \zeta} R(X(x_n)) > 0$ . Thus,  $\lim_{x_n \to \zeta} f(x_n)/f'(x_n) = 0$  and hence  $f(\zeta) = 0$ , that is  $\zeta = \zeta(x_0)$ . In the same way, if we take  $x_0 < \zeta(x_0)$  such that  $f(x_0)/f'(x_0) < 0$ ,  $K(x_0) < 0$ , we can show that the sequence  $x_n$  converges monotonically to  $\zeta(x_0)$ . Theorem 1 is proved.

Next, let f(x) be given by the form (12). Then if the real  $x_0$  is neither less nor greater than all  $\alpha_k$ , by repetition of the same argument as the above, we can establish the monotonic convergence of the rule (13) (see [4]). More precisely:

**Theorem 2.** Let f(x) be given by the form (12). Then, if

$$\frac{1}{2} \left( \theta + \frac{1}{2} \right)^2 \leq \beta \leq -\frac{1}{2} \left( \theta + \frac{1}{2} \right)$$

and if we take the real  $x_0$  such that  $f(x_0) f'(x_0) \neq 0$  and  $x_0$  is neither less nor greater than all  $\alpha_k$ , the sequence  $x_n$  in (13) converges monotonically to  $\zeta(x_0)$ .

We have established the monotonic global convergence of the rule (13) under the same assumptions as those on Ostrowski's method for the starting values  $x_0$ . **Remarks.** (a) Let f(x) be a polynomial of exact degree r>1 with real coefficients, let  $\zeta$  be an arbitrary real zero of f(x), and let r-1 zeros of f(x) except  $\zeta$  be  $\zeta_k$   $(k=1,2,\cdots,r-1)$ . Then, in the case where f(x) has

complex zeros, if  $\sum_{k=1}^{r-1} \frac{h^2}{(x-\zeta_k)^2}$  is positive, it follows from

- (15) that  $\frac{f'(x)}{f(x)}$  is monotonically decreasing and from
- (17) that (18) holds. Therefore, also in the case where
- f(x) has complex zeros, if  $\sum_{k=1}^{r-1} \frac{h^2}{(x-\zeta_k)^2}$  is positive, then

it can be seen that Theorem 1 holds.

(b) Before long, we will present the results on the global convergence of iterative formulas for R(X) of  $Ex\ 2$  in 3.

# 5. Modification for Multiple Zeros

In the case where  $\zeta$  is a zero of f(x) of multiplicity m>1, we consider the order of convergence for Eq. (10).

Then, we obtain

$$f(x) = (x - \zeta)^m g(x), \quad g(\zeta) \neq 0,$$
  

$$f'(x) = m(x - \zeta)^{m-1} g(x) + (x - \zeta)^m g'(x),$$
  

$$f''(x) = m(m-1)(x - \zeta)^{m-2} g(x) + 2m(x - \zeta)^{m-1} g'(x)$$
  

$$+ (x - \zeta)^m g''(x).$$

From these formulas, we obtain

$$h = \frac{f(x)}{f'(x)} = \frac{(x - \zeta)g}{mg + (x - \zeta)g'}$$

$$X = h \frac{f''(x)}{f'(x)}$$

$$= \frac{m(m - 1)g^2 + 2m(x - \zeta)gg' + (x - \zeta)^2gg''}{\{mg + (x - \zeta)g'\}^2}$$

where  $g \equiv g(x)$ ,  $g' \equiv g'(x)$ ,  $g'' \equiv g''(x)$ .

Since 
$$\frac{h}{x-\zeta} \to \frac{1}{m}$$
,  $X \to 1 - \frac{1}{m}(x \to \zeta)$ , we obtain
$$\lim_{x \to \zeta} \frac{\phi(x) - \zeta}{x - \zeta} = \lim_{x \to \zeta} \frac{x - hR(X) - \zeta}{x - \zeta}$$

$$= 1 - \frac{1}{m}R\left(1 - \frac{1}{m}\right).$$

Therefore, if  $R\left(1-\frac{1}{m}\right) \neq m$ , then the convergence of  $x_n$ 

to  $\zeta$  is only linear. Also in this case, we can still obtain cubic convergence of  $x_n$  to  $\zeta$  by the iterative formulas

$$x_{n+1} = \phi_m(x_n), \quad n = 0, 1, \cdots$$
 (21)

where  $\phi_m(x) = x - mhR(1 - m + mX)$ .

Then, the asymptotic error constant of  $\phi_m(x)$   $C_m$  is given by

$$C_{m} = \lim_{x \to \zeta} \frac{\phi(x) - \zeta}{(x - \zeta)^{3}}$$

$$= \frac{1}{m^{2}(m+1)^{2}} \left\{ \frac{3}{2} + \frac{m}{2} - 2R''(0) \right\}$$

$$\times \left\{ \frac{f^{(m+1)}(\zeta)}{f^{(m)}(\zeta)} \right\}^{2} - \frac{1}{m(m+1)(m+2)}$$

$$\times \frac{f^{(m+2)}(\zeta)}{f^{(m)}(\zeta)}.$$
 (22)

To prove that the above contents hold, it suffices to prove that (22) holds. Here, it follows from (21) that

$$\lim_{x\to\zeta}\frac{\phi_m(x)-\zeta}{(x-\zeta)^3}=\lim_{x\to\zeta}\frac{x-mhR(1-m+mX)-\zeta}{(x-\zeta)^3}.$$

Then, since

$$R(1-m+mX) = R(0) + (1-m+mX)R'(0) + \frac{1}{2}(1-m+mX)^2R''(0) + \cdots,$$

$$R(0) = 1$$
 and  $R'(0) = \frac{1}{2}$ , we obtain

$$R(1-m+mX) = 1 + \frac{1}{2}(1-m+mX) + \frac{1}{2}(1-m+mX)^2 R''(0) + \cdots$$
 (23)

Furthermore, we obtain

$$1 - m + mX = \frac{2mgg'k + \{(1 - m)g'^2 + mgg''\}k^2}{(mg + kg')^2}$$
 (24)

where  $k = x - \zeta$ .

Hence, it follows from (23) and (24) that

$$x - mhR(1 - m + mX) - \zeta$$

$$= \left[ \frac{m(m+3)gg'^2 - m^2g^2g''}{2(mg+kg')^3} - \frac{2m^3g^3g'^2}{(mg+kg')^5}R''(0) \right] k^3 + O(k^4).$$

Therefore

$$\lim_{x \to \zeta} \frac{\phi_m(x) - \zeta}{(x - \zeta)^3} = \frac{\{g'(\zeta)\}^2}{m^2 g^2(\zeta)} \left\{ \frac{3}{2} + \frac{m}{2} - 2R''(0) \right\} - \frac{g''(\zeta)}{2mg(\zeta)}.$$

Finally, since

$$g(\zeta) = \frac{f^{(m)}(\zeta)}{m!}, \quad g'(\zeta) = \frac{f^{(m+1)}(\zeta)}{(m+1)!},$$
  
and  $g''(\zeta) = \frac{2f^{(m+2)}(\zeta)}{(m+2)!},$ 

we obtain (22), and the above contents are proved. Next, we consider the case of Ex 1 in 3.

Then, if 
$$\frac{1}{2} \left( \theta + \frac{1}{2} \right)^2 \le \beta \le -\frac{1}{2} \left( \theta + \frac{1}{2} \right)$$
, it follows from

(19) that

$$R\left(1-\frac{1}{m}\right) < \frac{1}{\sqrt{1-\left(1-\frac{1}{m}\right)}} = \sqrt{m} < m.$$

Therefore, the convergence of  $x_n$  in (13) to  $\zeta$  is only

linear. Modifying (13) by (21), we obtain

$$x_{n+1}=x_n-mh_nR(1-m+mX_n), n=0, 1, \cdots$$
 (25)

where 
$$h_n \equiv h(x_n)$$
,  $X_n \equiv X(x_n)$ , and  $R(X) = \frac{\left(\theta + \frac{1}{2}\right)X + 1}{\beta X^2 + \theta X + 1}$ 

Then, it follows from (22) that the asymptotic error constant  $C_m$  is given by

$$C_{m} = \frac{1}{m^{2}(m+1)^{2}} \left(\frac{3}{2} + \frac{m}{2} + 2\theta + 4\beta\right) \left\{\frac{f^{(m+1)}(\zeta)}{f^{(m)}(\zeta)}\right\}^{2} - \frac{1}{m(m+1)(m+2)} \cdot \frac{f^{(m+2)}(\zeta)}{f^{(m)}(\zeta)}.$$
 (26)

On the monotonicity of convergence of the rule (25), we obtain:

**Theorem 3.** Let f(x) be given by the form (11). Then, under the assumptions of Theorem 1, the sequence  $x_n$  in (25) converges monotonically to  $\zeta(x_0)$ . Furthermore, we obtain:

**Theorem 4.** Let f(x) be given by the form (12). Then, under the assumptions of Theorem 2, the sequence  $x_n$  in (25) converges monotonically to  $\zeta(x_0)$ .

In the case where  $\zeta$  is a zero of multiplicity m>1 and r>m, we can rearrange r-m zeros except  $\zeta$  such that  $\zeta_1 \leq \cdots \leq \zeta_{r-m}$ . Then, (16) can be expressed in the form

$$1 - X = \begin{cases} \frac{mh^2}{(x - \zeta)^2} + \sum_{k=1}^{r-m} \frac{h^2}{(x - \zeta_k)^2} & (r > m) \\ \frac{mh^2}{(x - \zeta)^2} & (r = m). \end{cases}$$
 (27)

Therefore, it follows from (27) that

$$|x - \zeta(x)| \ge \frac{\sqrt{m} |h|}{\sqrt{1 - X}}.$$
 (28)

Furthermore, since 1-m+mX<1, using (19), we obtain

$$\frac{\sqrt{m}}{\sqrt{1-X}} \ge mR(1-m+mX). \tag{29}$$

Hence, it follows from (28) and (29) that

$$|x - \zeta(x)| \ge m |h| R(1 - m + mX).$$
 (30)

Consequently, these Theorems can be obtained in the way similar to the proof of Theorem 1 and Theorem 2.

# 6. Numerical Examples

If  $\theta = -1$  in Eq. (9), then the iterative formula takes the particularly simple form:

$$x_{n+1} = x_n - \frac{1}{2} h_n - \frac{1}{2} \frac{f(x_n)}{f'(x_n) - f''\left(x_n - \frac{1}{3} h_n\right) h_n},$$

$$n = 0, 1, 2, \cdots$$
(31)

•	٠	1	٩
	¢	ι	þ
	ć		5
	¢	(	1
ŧ			۱

L		t	
	$x_0 = y_0 = z_0 = s_0 = t_0$	u	$S_n$
	10-30000000-0-	-	-0.8230769230769230769230769230769230769204+01
	- 1	2	450
	>	3	-0.393573029395118931041250659057380+01
<u> </u>	γν	4	
	0.1100000000000000000000000000000000000	2	-0.347213596717251583058657827134570+01
~	-0.900000000000000000000000000000000000	9	-0.347213595499957939281834747152540+01
•••	Oscillating	7	-0.347213595499957939281834733746260+01
•••	Guana	8	-0.347213595499957939281834733746269+01
Z	у,	u	$t_n$
厂	0.596814335490293678446988551518170+00	-	-0.761360718870346598202824133504490+01
2	.1000071	2	-0.492937515465601384917573662416360+01
က	0.99999999999999999998817893039400	က	-0.356903320053639977651493402894090+01
4	0 0 0 0	4	-0.347218641838371102064463404927809+01
Z	ζ,,	2	7464353189688
}	00100	9	.34721359549995793928183473374626
<u> </u>	199439	_	-0.347213595499957939281834733746260+01
2	. 3937452	]	
~>	.347588853082599597510543831707730+01	>	10 /2 102201500075608779035977463415
4	.347213595722319418177526464023450+01		1.000000000000000000000000000000000000
2	[-0.347213595499957939281834733792570+01]	-	$\frac{1}{1}$
9	S	_	- 27 5,4 / 6 1 3 3 9 3 4 9 9 9 3 1 9 3 9 4 6 7 6 7 7 - 6 7 7 7 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9
-	-0.347213595499957939281834733746260+01		
L			

where  $h_n = h(x_n)$ . Furthermore, if  $\theta = -\frac{3}{4}$ ,  $\beta = \frac{1}{16}$  in the formulas (13), then we obtain the iterative formula:

$$x_{n+1} = x_n - \frac{1 - \frac{1}{4} X_n}{\frac{1}{16} X_n^2 - \frac{3}{4} X_n + 1} h_n,$$

$$n = 0, 1, 2, \dots$$
 (32)

where  $X_n \equiv X(x_n)$ .

Next, we give numerical examples by the following five iterative methods:

Newton's method:  $x_{n+1} = x_n - h(x_n)$ 

The method by (31):  $y_{n+1} = \phi(y_n)$ 

Ostrowski's method:  $z_{n+1} = \Phi(z_n)$ 

Halley's method:  $s_{n+1} = \Phi_{1,1}(s_n)$ 

The method by (32):  $t_{n+1} = \phi(t_n)$ ,  $n = 0, 1, 2, \cdots$ . Here, we consider the polynomial

$$f(x) = x^7 - 7x^6 - 499x^5 + 2565x^4 + 64835x^3 - 204821x^2$$
$$-992593x + 1130519.$$

The exact zeros of f(x) are  $1\pm 10\sqrt{3}$ ,  $1\pm 10\sqrt{2}$ ,  $1\pm 2\sqrt{5}$ , and 1.

Let  $\zeta$  be an arbitrary zero of f(x). Then, it follows from Corollary 6.4K [7, P. 457] that we obtain

$$|\zeta| < 2 \max (7, 499^{1/2}, 2565^{1/3}, 64835^{1/4}, 204821^{1/5}, 992593^{1/6}, 1130519^{1/7}) = 2 \cdot 499^{1/2} < 45.$$

Therefore, we take  $|x_0| = |y_0| = |z_0| = |s_0| = |t_0| \le 45$ . In Table 1, we obtain  $\zeta < z_n < t_n < s_n \ (n \ge 1)$ . In Table 2, we obtain  $\zeta > z_n > t_n > s_n \ (n \ge 1)$ .

In general, let  $z_0$  be an arbitrary real number, and let us take  $t_0 = s_0 = z_0$ . Then, it follows from (19) that we obtain  $\zeta < z_1 < t_1 < s_1$  if  $h(z_0) > 0$ , and  $\zeta > z_1 > t_1 > s_1$  if  $h(z_0) < 0$ . But, theoretically it cannot be concluded that we obtain  $\zeta < z_n < t_n < s_n$   $(n \ge 2)$  if  $h(z_0) > 0$ , and  $\zeta > z_n > t_n > s_n$   $(n \ge 2)$  if  $h(z_0) < 0$ .

From Table 2, it can be seen that the monotonicity of convergence for the method by (31) does not hold. All calculations are made with quadruple precession.

## Acknowledgement

The author would like to thank the referees for their valuable suggestions that improved the original manuscript.

#### References

- 1. TRAUB, J. F. Iterative Methods for the Solution of Equations, Prentice-Hall Englewood Cliffs, New Jersey (1964).
- 2. OSTROWSKI, A. M. Solution of Equations in Euclidean and Banach Spaces, Academic Press, New York and London (1973).
- 3. JARRATT, P. Some Fourth Order Multipoint Iterative Methods for Solving Equations, *Math. Comp.*, 20 (1966), 434-437.
- 4. DAVIS, M. and DAWSON, B. On the Global Convergence of Halley's Iteration Formula, *Numer. Math.*, 24 (1975), 133-135.
- 5. HANSEN, E. and PATRICK, M. A Family of Root Finding Methods, Numer. Math., 27 (1977), 257-269.
- MURAKAMI, T. On the Attainable Order of Convergence for Some Multipoint Iteration Functions, J. Inf. Process., 13 (1990), 514-521.
- 7. Henrici, P. Applied and Computational Complex Analysis, 1, John Wiley & Sons, New York (1974).

(Received April 19, 1991; revised October 23, 1991)